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Al 24 Z3
g ow NEds ELE 2 =(t) s 53 A ) g BEST ) HE T o | Amme
= 3-1 - - - - 1.5 100 1.9099
= =2 - - - - - - 1.0 100 1.2733
S NEHE S LE =(t) by LRI i R A% wow| WES
#1 o -3 11.76 240 2,822.40 3,115.09 1.0 100 0.0002
Sx AN #2 5wt -3 10.01 240 2,402.40 2,651.54 1.0 100 0.0002
(4point) #3 2 st -3 10.02 240 2,404.80 2,654.19 1.0 100 0.0002
#4 LRt -3 10.04 240 2,409.60 2,659.48 1.0 100 0.0002
#5 QTZ HEf 1m OfLy -3 10.03 40 401.20 442 81 4.5 300 0.0017
ok 2l #6 QTE HEf 1m OfLy -1 10.05 40 402.00 440.43 2.5 300 0.0009
(4point) #7 Q2 HEf 1m o[y 1 10.07 40 402.80 438.08 3.0 300 0.0011
#8 QTE HEf 1m OfLy 2 10.02 40 400.80 434.32 3.0 300 0.0011
#9 297 Z7|HjE T 0.3~1m O|Lf -3 10.03 40 401.20 442 81 8.5 300 0.0031
SoluEa #10 27| Z7|HjE T 0.3~1m O|Lf -1 10.05 40 402.00 440.43 7.5 300 0.0028
(4point) #11 27| Z7|HjE T 0.3~1m O|Lf 1 10.07 40 402.80 438.08 8.0 300 0.0030
#12 297 Z7|HjE T 0.3~1m O|Lf 2 10.02 40 400.80 434.32 8.0 300 0.0030
#13 H7|2uER 2 2E 1m oY -2 10.03 40 401.20 44117 3.0 300 0.0011
H7|2eER #14 H7|2HETREE 1Im oLy 0 10.06 40 402.40 439.25 1.5 300 0.0006
(4point) #15 H7|SHHET22E 1m oY) 2 10.07 40 402.80 436.49 2.0 300 0.0007
#16 o 7| SEHE TR RE 1m OfLY 2 10.04 40 401.60 43519 2.0 300 0.0008
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i oA o 2 X
gz | MNE =9 9% sgAziy) | SERS | ®E | S¥SE
H (¢/min) ® (PH/mm?)
=1 - - - - 1.2733
ZAZ =
z2 - - - - 1.9099
i oA o 2 X
gz | MNE =9 9% sgAziy) | SERS | ®E | S¥SE
H s (¢/min) ® (7H/em)
#1 of ik 720  ~ 1120 10.01 2661.39 0.0002
#2 = ot 7:25 ~ 1125 10.00 2658.74 0.0002
EXEAM
(4point)
#3 CRCIET 730 ~ 1130 10.02 2664.05 0.0002
#4 A e 7:35 ~ 1135 10.03 2666.71 0.0002
#5 ol;lz 2E 1m O|Lf| 7:50  ~ 8:30 10.07 44622 0.0020
#6 ollz =E 1m ol 1050 ~  11:30 10.04 44161 0.0013
O|AH A H| Ol
Fldd .' 5T #7 ol;iz 2 1m o|Lf| 1120 ~  12:00 10.06 440.86 0.0017
(S5point)
#8 ollz = 1m o[l 1350 ~  14:30 10.05 43562 0.0023
#9 ollz = 1m o[ 1420 ~  15:00 10.07 436.49 0.0013
#10 sot7) ZolujzR 03~molyf 8:10  ~ 8:50 10.01 44357 0.0033
#11 sot7] 27wz 03~moyf 11:00 ~  11:40 10.04 439.99 0.0026
ST =
= '.HE:FL #12 sot7] 27wz 03~moyf 11:30 ~  12:10 10.02 43911 0.0032
(S5point)
#13 sot7] 27wz 03~1m oy 14:00 ~  14:40 10.03 43475 0.0036
#14 sot7] 27wz 03~moyf 14:30 ~  15:10 10.09 437.36 0.0028
#15 Hrjeszrzee moly| 10:.00 ~  10:40 10.01 440.29 0.0011
#16 HoleusPege 1mojy| 1250 ~  13:30 10.06 43925 0.0006
o 7|2t
1' |§%§:rl #17 Holgwsrzee moly| 13:00 ~  13:40 10.07 438.08 0.0007
(S5point)
#18 Hrjeszrzee moly| 1500 ~ 1540 10.04 43519 0.0013
#19 Hrjeszrzee moly| 1520 ~  16:00 10.03 43475 0.0004
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<sampling-#18>

ot g R T R et
B
WAl sagean S e en
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> SEZao| oE SeolA
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S SN X AA MY T B st FXEAY X HE, g8 X,
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A
27| g+ XN Ho|E gt XY HEse 200 ol
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éﬂ%l/\

2018-02-12

0:

o 2 7] & 70| & o] Al 4| &)
= M7 B FollZAHerd AT Y
RS S HMetdz oA 2212 41 o{oiXtnSstm Aol
AledE EMEE
= SR EAH M 2l M|l S| & HZ|28ET = A H: ES 01357.1, ES02303.1
NI #1 ~ #4 #5 ~ #9 #10 ~ #14 #15 ~ #19 2l El 2: Walton Beckett J12HE| 2
= " A2 07:20 ~ 11:35 07:50 ~ 15:00 08:10 ~ 15:10 10:00 ~ 16:00 & ool & 2| AbAH3 0| A (BA 310)i
AlBH S 2018.02.12 2018.02.12 2018.02.12 2018.02.12 W-B Z2HE| 22| H X : 0.00785mm?
7 =) 2,662.72 440.16 438.96 437.51 SEAIZAEHA : 385mm?
ZEX|E(mm): 25 25 25 25 2 MY 4 =5 @@
= A g X 2018.02.12 2018.02.12 2018.02.12 2018.02.12
AR 24 23
_ - Yavs 7Y E78-1 4%
g2 = AlB = x| 2 N = X Al ZHE Al O ZH/mm2
g & | 5 £ 349 =(T) (¢/min) £ H Al ZHR) 0 ) ETIS | ok /
3-1 - - - - - - 1.0 100 1.2733
IA'JEL
3-2 - - - - - - 1.5 100 1.9099
- yavs ERY ERET-1 o7 538
o Al E | 25 N = 8 Al ZHE Al O
2 F |12H S 539 (') (¢/min) £ H Al ZHR) (/) ) TIPS | ok (W /)
#1 R -4 10.01 240 2,402.40 2,661.39 1.0 100 0.0002
SR AAM #2 = digt -4 10.00 240 2,400.00 2,658.74 1.0 100 0.0002
(4point) #3 e -4 10.02 240 2,404.80 2,664.05 1.0 100 0.0002
#4 AN g -4 10.03 240 2,407.20 2,666.71 1.0 100 0.0002
#5 Q72 el 1m oLy -4 10.07 40 402.80 446.22 5.5 300 0.0020
#6 Q72 el 1m oLy -2 10.04 40 401.60 441.61 3.5 300 0.0013
O|AH A H| Q!
T"ia _‘;‘? #7 QT2 2E 1m O|Ly -1 10.06 40 402.40 440.86 4.5 300 0.0017
poin
#8 T2 2E 1m O|Ly 2 10.05 40 402.00 435.62 6.0 300 0.0023
#9 Q72 el 1m oLy 2 10.07 40 402.80 436.49 3.5 300 0.0013
#10 SU7| B7|HIET 03~1m OfLf -4 10.01 40 400.40 443.57 9.0 300 0.0033
#11 SU7| B7|HIET 03~1m OfLf -1 10.04 40 401.60 439.99 7.0 300 0.0026
27|H=E
?‘5 ! _"f? #12 27| Z7|8j= T 0.3~1m oLy -1 10.02 40 400.80 439.11 8.5 300 0.0032
poin
#13 SU7| B7|HIET 03~1m O[Lf 2 10.03 40 401.20 434.75 9.5 300 0.0036
#14 SU7| B7|HIET 03~1m OfLf 2 10.09 40 403.60 437.36 7.5 300 0.0028
#15 7| 24tE 2 2E 1m O|Ly -2 10.01 40 400.40 440.29 3.0 300 0.0011
#16 7| 24tE 22 2E 1m O|L 0 10.06 40 402.40 439.25 1.5 300 0.0006
o7 | SYts
i (foinf? #17 7| 24tE 22 2E 1m O|Ly 1 10.07 40 402.80 438.08 2.0 300 0.0007
#18 7| 24tE 22 2E 1m O|L 2 10.04 40 401.60 435.19 3.5 300 0.0013
#19 H7|24tE 22 2E 1m O|Ly 2 10.03 40 401.20 434.75 1.0 300 0.0004
*APAZ FHo| MUl Eo| 7| F (Mt e Al H38(AILZE Friel Mt Es{&7|F) : 0.0171/cc
¥ 0| EMZAIE Bixol 251 BE 5o ALSE|0jAM = eHEl Lt
¥ 2 ARE EHEO QF0| s Al 2t &S = 30¢ Fofl HI|IME Euct
£ el MR MHOo| =o{UX| ph2 EnMe| A2 o F Aol ™= K| gfon], RE SALE FEHCH




I
=
&l
0
KIr
<]

B
<r

—
—
>

of &
ERa
oY
k19
o
oll
< E|
Ho Jor
ol ujo
KT M
< =3
3 [s)
3 AN
© 5}
[=X} g
xr

—~ _ NI

8o w0 —

oy [}

KT M ]

T —

go = NA_l . @

= = =

EN IaSyGy ﬁ =|

Ho =3 <0 & KH

A HIE ==

o A._ — |80 =K o

= B 0= S0y

e e e

._o._ml._o._ pal muﬂ[ I}

K
ol
LY
E K
o] -
KO &
Kr &
Bl
xr

2018.02.13

2018.02.13

_|_|
B
o
E -
A ol
rall
=3 <r
il
=3
KE
@
1ol = >
EE N W
mr Q
ufo S Klo
Rr S <
K 3 5
© Jor
Mo
o
ujo < Ho
- ~ pal
ok ) Br
or ol Ho
Ko ~ o
Rr [y fof
K
go iy )
] 1of
X0 or ~O

_.._I
84
RO
ol
B4
<

M
S
kE

o

17|+ X

028 14

20184

# St

KH
&

o] gt

CH & O] A}

A O] Ao AME

MEsHA| - HADXE




i oA o 2 X
gz | MNE =9 9% sgAziy) | SERS | ®E | S¥SE
H (¢/min) ® (PH/mm?)
21 - - - - 1.2733
ZAZ =
=2 - - - - 1.9099
i oA o 2 X
gz | MNE =9 9% sgAziy) | SERS | ®E | S¥SE
H s (¢/min) ® (7H/em)
#1 of ik 745  ~ 1145 10.04 2659.48 0.0002
#2 = ot 750 ~ 1150 10.02 2654.19 0.0002
S| ZA
(4point)
#3 CRCIET 755 ~  11:55 10.01 2651.54 0.0002
#4 M Hist 800 ~  12:00 10.03 2656.84 0.0002
#5 oz =HE Im O|Lh| 810 ~ 850 10.05 44369 0.0020
O|AH M H| Ol
uCE .' 5T #6 olmz HE 1m oLl 1250 ~  13:30 10.01 430.76 0.0013
(3point)
#7 oz =E 1m O|Lhf 13:10 ~  13:50 10.02 431.19 0.0015
#8 sot7| BoljsR 03~1molf 830  ~  9:10 10.04 44325 0.0033
#9 sor7| BoljET 03~1moi| 920  ~  10:00 10.02 44236 0.0031
S27|tHEF
(4point)
#10 2ot BolbjET 03~1moif 13:00 ~  13:40 10.04 432.05 0.0030
#11 sot7| BolbjET 03~1mojf 13:20 ~  14:00 10.03 43162 0.0032
#12 HoleusPege 1mojy 11:40 ~  12:20 10.01 43232 0.0011
o 7|2t
i |§%§:rl #13 Holgwsrze molu| 1440 ~  15:20 10.04 430.49 0.0008
(3point)
#14 HrjeszrzLe moly| 1500 ~ 1540 10.00 42878 0.0010
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g7 HET XY "oIE HET ANE dBsE SZ 200 28]
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M 38T (AL T FH O MEHHIESE7[F)Q 0.0170/ar 0|2 = =7 HItE ALt

(e M LYY
=5}
=]




=

ECO o M aZ oA 72

=5 U

oo
1z

Bu|AS

éﬂ%l/\

2018-02-13

0:

o 2 7] & 70| & o] Al 4| &)
= M7 B FollZAHerA AT Y
RS S HMetdz oA 2212 41 o{oiXtnSstm Aol
AledE EMEE
=2 X AA M ol MAH|Ql 7 S| &+ H7|2HHET = A 8 ES 01357.1, ES02303.1
NI #1 ~ #4 #5 ~ #7 #8 ~ #11 #12 ~ #14 2l El 2: Walton Beckett J12HE| 2
= " Al 2 07:45 ~ 12:00 08:10 ~ 13:50 08:30 ~ 14:00 11:40 ~ 15:40 oo F: 2| AFRIE 0| (BA 310)i
AlBH S 2018.02.13 2018.02.13 2018.02.13 2018.02.13 W-B Z2HE| 22| H X : 0.00785mm?
M7l L) 2,655.51 435.21 437.32 430.53 SEAIZAEHA : 385mm?
LEX|E(mm): 25 25 25 25 2 M XY 4 = @@
=AY R 2018.02.13 2018.02.13 2018.02.13 2018.02.13
AR 24 23
5 Yans 7Y E88-1 o7
= Al B E s X s N =X Al ZHE Al o 7H/mm?
2 F - - 39 (') (¢/min) £ 3 Al ZHB) 0 ) TIPS | ok H/
3-1 - - - - - - 1.0 100 1.2733
IA'E
3-2 - - - - - - 1.5 100 1.9099
- Yaas ERY ERET-1 o7 538
= Al B WS X 25 T =3 Al ZHE Al O
2 F - - 539 (') (¢/min) £ H Al ZHR) (/) ) TIPS | ok (W /)
#1 L -3 10.04 240 2,409.60 2,659.48 1.0 100 0.0002
Hx|AA M #2 & we -3 10.02 240 2,404.80 2,654.19 1.0 100 0.0002
(4point) #3 = s -3 10.01 240 2,402.40 2,651.54 1.0 100 0.0002
#4 AN g -3 10.03 240 2,407.20 2,656.84 1.0 100 0.0002
#5 Y2 £E 1m oLy -3 10.05 40 402.00 443.69 5.5 300 0.0020
O|A A H| Q!
Ay _‘ o7 #6 QT2 2E 1m O|Ly 4 10.01 40 400.40 430.76 3.5 300 0.0013
(3point)
#7 Q72 el 1m oLy 4 10.02 40 400.80 431.19 4.0 300 0.0015
#8 27| Z7|8j= T 0.3~1m oLy -3 10.04 40 401.60 443.25 9.0 300 0.0033
Stz #9 27| Z7|8j= T 0.3~1m oLy -3 10.02 40 400.80 442.36 8.5 300 0.0031
(4point) #10 2¢t7| 27|Hi= 3 0.3~1m oLy 4 10.04 40 401.60 432.05 8.0 300 0.0030
#11 SU7| B7|HIET 03~1m O[Lf 4 10.03 40 401.20 431.62 8.5 300 0.0032
#12 7| 24tE 22 2E 1m O|Ly 3 10.01 40 400.40 432.32 3.0 300 0.0011
H7|2gET N Ho|ZaE a2 HE 1m Ol
3point) 13 7| SHE T2 2E 1m OfLY 5 10.04 40 401.60 430.49 2.0 300 0.0008
#14 7| SEHE TR EE 1m OfU 5 10.00 40 400.00 428.78 2.5 300 0.0010
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i oA o 2 X
gz | MNE =9 9% Az | 2ERA | ®E | WSk
H (¢/min) ® (PH/mm?)
21 - - - - 1.9099
ZAZ =
z-2 - - - - 1.2733
i oA o 2 X
2 | 02| sman | smwme | 3ETT| RS | SUSE
H s (¢/min) ® (7H/em)
#1 of disk 820 ~ 12220 10.01 2584.53 0.0002
#2 = ot 825  ~  12:25 10.05 2594.86 0.0002
S| A
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